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’ Instructions on how to complete this answer sheet are given on the question paper. Please make sure you follow them carefully.{

Questions ONE to NINE Choose one response 1 - 4 for each of the parts A - D

QUESTION ONE 1 2 3 14
A fusion of two gametes Bl el el 18]
B fusion cell cloning Q0 B O 0
C transplanting embryos & @ ‘s (s
D tissue culture o o O g
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A trees O oo 5
B cattle & O O O
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} Instructions on how to complete this answer sheet are given on the question paper. Please make sure you follow them carefully.{

Questions ONE to NINE Choose one response 1 -4 for each of the parts A - D

‘ QUESTION ONE 1 2 3 4
A leaves are poisonous o 0o o O
‘ B leaves have prickles
C blue skin with yellow spots
‘ D white colour o © © 9
- QUESTION TWO 1 2 3 4
| A Dbiodiversity & el (@ e
B carbon dioxide 9
C energy OO
D methane 7
( . QUESTION THREE 1.2 3 4 "
A Characteristics o) @l el (o
‘ B chromosomes O @ @ ©
C genes O 08 O O |
'D mutations ‘
( QUESTIONFOUR 1 2 3 4
| A burning fuels that release sulfur dioxide o @B & (@

' B digging a new quarry
C sewage disposal ® 8l (@

\ D using pesticides on crops o O O C ‘
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QUESTION SIX 1 2 3 4
fusion of two gametes 5 0. OO

fusion cell cloning
transplanting embryos

tissue culture O Q) 6
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